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Usa la moltiplicazione del reticolo per risolvere ogni problema. Risposte
1 2 3
) 617 x 36 = ) 902 x 60 = ) 936 x 11 = L
/s ’ s s 7 / / 7 7
/ 7 7 /s / / / ’ ’
/ /s /s ’ s /s ’ ’ 2.
7 7 7 ’ / / /s /
’ / s 4 s s s ’
Ve 7 7 7 4 Vs Ve ya 4 4 7
s ’ Vi Y 4 ’ s s 4 4 ’
4 s 7 s’ 4 / 7 Vs 4 7 3
/ / V2 7/ 7/ V 4 7/
/7 Vs ya 7 7 V4 7 Vi
/s 7 , s 7 , 7 ,
// // 7 // // 4 7 ’
/s / ’
4,
5.
4 5 6
) 506 x 97 = ) 375x92 = ) 944 x 94 =
6.
/ / / 7 7 7 ’ 7 7
/ 7 7 ’ / / /s ’
7 ’ ’ ’ s s ’ ’
7 7 z 4 / / 7 / 7.
4 /s /s /s s s ’ ’
/, // // ,/ // // // // // // ,/
/ V2 7 Vi 4 / 7/ 7 7/ 7/
/ / 7 7/ 7/ V 4 / 8
7 7/ , / 7/ 7 4 /
, 7 , / / ’ 4 7/
7 7 y / / y /s y
s s s 4 4 Vi ’
9.
7 8) 9 10.
773%x32= 444 x 54 = 950 x 35 =
11.
/ / / 7 / / ’ 7 7
/ ’ /s ’ / ’ ’ ’
// // // // // // // //
’ ’ ’ ’ ’ / ’ ’ 12.
Ve 7 7 7 7/ 7 Ve ya 4 4 Ve
Ve Vi V2 s, 7/ Ve 7 7 4 /7 /7
’ V2 Y y 4 ’ s s 4 /
/ 7/ V2 7/ /7 V 4 /
7 7/ 7 / 7/ 7 4 /
Vi 7 P / / ’ 7 /
7 7 V: 7 / ’ 4 7/
7 /s s ’ s V) )
10 11 12
) 608 x 49 = ) 289 x 74 = ) 530 x 32 =
/ / 7 7 7 / ’ 7 7
/ /s /s ’ ’ ’ /s ’
s / / / / 7 / /
’ s s / ’ ’ 7 7
’ ’ / / ’ ’ ’ ’
// // // // // // // // // // //
Ve 7 7 V2 7/ Ve Ve Vi 7 Ve
’ ’ V. ’ ’ , ’ y
7 7/ 7 / 7/ 7 4 /
7/ 7/ P / 7/ , 4 /
s s y ’ ’ Vi /s )
7 / s ’ s V) y

[M atemati Ca] www.CommonCoreSheets.it 3

1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12[ 8] 0




Soluzioni

Nome:

Reticolato 3a?2

(0D}
7] (qV| o (o) Al o O O O o AN O o
o — Q| (@) o0 o o™ ™ N~ LO (@) 0 O
Nl N O W x| N O NI NN M O
) AN < o (@) < (00)] < ™ ™M (@) — (o]
.Dlu AN Lo — < o™ o0 [Q\ AN (9p] (q\| AN —
- N o < 5 o N o o S| d g
— — o <t ™
AN N N
© © © © o
// // 4 // N o AN
o // o // O ™ // // // o
// ™ ///3 \ // © /6 o //
N N 4 N N 5 N N
o MN|lo N|o M N N AN o
I NEEIE I N " ~ N "
— N //9 \ < N //6 L AN >
i // N (0] (o)} // N (40 (e} // (40
X © \|o N X O\ N X N N X
6 N\ O N 0
SN g e S AN &
—~ — —~~ <)
, ™ © o N
® —
m © o o N To}
m NN O NN o o
= // // o // // < //
p 1 AN o N O 4 N\ N AN 6
m N\ o o N ™ o \
g // // // // //4 N N //
(@] N N N~ N N < N
1) O (|O \|N © N N \ ~
o) I NEE=IE I S~ I o N I
V o // //O // 2 // /6 N // 4
e (o) N N (e} ™ N N < N N~
m X o Nlo \|d % N N % N o x
= o D To} N (o))
=) I N < N ~ ™ < N \ loe)
Nu bor} \ N ™ N N N
o
m N %) © m/
o
b ™ © o ~ ™
= Mo L AN N o
D N \ © N \ 130) N
w NS | ToRINN N AN ©
m M ///6 \ MO /o — AN
- — AN AN o N\ AN 7 N N
m O // 0 // i O // // // 3
= I NP N I N I = . I
o © N N RN N~ N W I\ N AN o
— (92] N AN (o)) o] AN N (2] N~ AN <t
m X — M NN % < N N % N M~ %
€ ™~ NN NN bt < o 0 o~ AN «©
— N~
© © N N % h N~ A m
g = = \7; S)
o —

1-10 [ 9283|7567 |58]|50] 42]33]25] 17|

11-12| 8 | O

[M atemati Ca] www.CommonCoreSheets.it



